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Adriaan WILLAERT
(ca. 1490 - 1562)




 

Pas


sa


- la


na

  
ve


- mi
   

a


-


col


ma


- d'o


bli


- -

10




   
o


- Per


a


spro


- mar,

 
per


a


spro


- ma


re_a


- mez


za


- not


te_il


- ver


no,


-


a


mez


za


-

15





not


te_il


- ver


no


-


In


fra


- Scil


la_e


- Ca


rib-
    

di;


-


et


al

 
go


ver


-

20 25




   
no


- Sie

 
de'l


- si


gnor,


-


an


zi'l


- ni


mi


- co


- mi

  
o,


- sie


de'l


- si


gnor,


-

30




  
sie


de'l


- si


gnor,


-

 
sie


de'l


- si


gnor,


-

 
an


zi'l


- ni


mi


- co


-

35




 
mi

 
o,


- sie


de'l


- si


gnor,


- an


zi'l


- ni


mi


- co


- mi


o.


-


A


cia


scun


- re


mo_un


-

40





pen


sier


- pron


to_e


- ri

    
o,


-


a


cia


scun


- re


mo_un


- pen


sier


- pron


to_e


- ri


o,


-

45




 
Che


la


tem


pe


- sta_e'l


- fin


par


c'hab


bi_à


- scher


no,


-


par


c'hab


bi_à


- scher


no;


-



55




  
La


ve


la


- rom


pe_un


- ven


to_hu


- mi- do_e

 
- ter


- no,


-

 
la


ve


la


- rom


pe_un


-

60





ven


to_hu


- mi- do_e

 
- ter

 
- no- Di

 
so


spir,


-


di
 

spe


ran


- za,_e- di
 

de


si


- o,


-



65





di


spe ran
 

- za,_e


- di


de


si


-


o,


- - di


spe ran

 
- za,_e


- di


de


-
70 




si


o,


-


di


spe ran

 
-


za,_e


- di


de


si


- o.


-




Seconda parte. 80




 
Piog


gia


- di


la
  

gri


- mar,


- piog


gia

- di


la

gri

- mar,


- neb


bia


- di


sde

-

85




gni,


piog


gia

- di


la


gri


- mar,

 
neb


bia

- di


sde

  
gni


-

  
Ba


gna_e


- ral


-

90 95




len

  
ta


- le


già

stan

    
che


- sar
  

te,


-


Che


son

d'er


ror


- con


i


-

100




gno


ran


- tia_à


- tor


to,

- con


i


gno


- ran


- tia_à


- tor

 
to.


-


Ce


lan

- si_i


- duo


miei



105




dol


ci_u


- sa


- ti


- se


gni,


-


i

duo


miei


dol
  

ci_u


- sa


-

 
ti


- se


gni:


-

110



 
Mor


ta


- fra


l'on


de_è


- la

 
ra

gion


- e


l'ar


te,

-

 
mor


ta


- fra



115 120




l'on

   
de_è


- la


ra


gion


- e


l'ar


te,

- mor


ta


- fra


l'on


de_è


- la


ra


gion


- e


l'ar

  
-

125




te:

-

   
Tal

 
ch'in


co


- min


- co_a


- de


spe


- rar,


- tal


ch'in


co


- min


- cio_a


-

130




de


spe

- rar


- del


por

   
to,


- -


tal


ch'in


co

- min


- cio_a


- de


spe


- rar


- del


por


-

135




to,
 

tal

ch'in


co

- min


- cio_a


- de


spe


- rar


-


del


por


to.


-



QuintoPassa la nave - Pioggia di lagrimar à 6 voci2


